
GS-QT-P70/80/90/100/110/120+ MS-QT-P
GS-QT-LC80/90/100/110/120/130/140+ MS-QT-LC

Hinged door
Installation instructions



！

1



 x 3

BS-2.5/3/4

1 x 1 2 x 1 3 x 1 4 x 1 5 x 2 6 x 1 7 x 1

8 x 4 9 x 2 10 x 1 11 x 2 12 x 2 13 x 2 14 x 1

15 x 1 16 x 2 17 x 1 18 x 1 19 x 1 20 x 4 21 x 4

22 x 3 24 x 3 25 x 3 26 x 523 x 3

C:\Users\Administrator\Desktop\HMP2换版\PDF Images\MSSP2说明书-CTR  2017-06-22103fa020.png！

1918
17

16
15

149
8
7

6

5

4

3

2

1

12 10
11

13

20

21

26

24

22

25

23

27

M4X8 L&R L&R L&R

ST4X30 6X30

ST4X12
ST5X30

8X30 ST5X40

27 x 2

 x 1

 x 1

 x 1



！

1b

6mm

×4

ST4×30

×4

6X306mm

1c

1a

1d

26m
m

773-808/873-908/973-1008/

1073-1108/1173-1208/1273-1308/1373-1408



！

2a

5
00mm

2b

5
00 mm



！

M4X83a

3b

3c

drop

3d

3g

3h

3e

3f

3i

3j 3L

L-30
CUT

L

For model LC90-LC140,
the glass holder should

For model LC80, the
glass holder should

A

A

3k
drop

outside inside

be fixed on the marked
 holes of top bar.

be fixed on the marked
 holes of top bar.

5



！

4a

4b

8mm

4c

4d 4f

4g

4h

4i

4j

BS-2.5

BS-2.5

4k4e

6



！

5a

5b

5c

BS-4

BS-4

BS-4

5d

BS-4

B

5g

5h5f

A
5e

cut

A

A

50

70

7



！

6a

6b

6c

6d

6e

6j

6h

6i 6k

8mm

A

A

A

A

6f

6g

For door panel size 500mm,

 bottom seal should be cut off 100mm

CUT

100mm

8mm

8mm

8



！

7a

7b

7c

7e

7f

7h

7i

7j

=L

CUT

7d

7g

L

L

7k 7l

9



！

8a 8b 8c

BS-2.5

10



！

11



1 x 1 2 x 1 3 x 1 4 x 1 5 x 1 6 x 2 7 x 5

8 x 1 9 x 2 10 x 2 11 x 1 12 x 4 13 x 4

！

M4X8

L&R ST4X30 6X30

1

13

12

3

11

8

6

9

4

5

2

7

M5X4

10

 x 1

12



 x 1

C:\Users\Administrator\Desktop\HMP2换版\PDF Images\MSSP2说明书-CTR  2017-06-22103fa020.png！

14

86

5

3

15

10

12

11

4

2

1

13

12

3

11

8

6

9

4

5

2

7

10

1 x 1 2 x 1 3 x 1

4 x 1 5 x 1 6 x 2

7 x 5 8 x 1 9 x 2

10 x 2 11 x 1 12 x 4

13 x 4

M4X8

L&R

ST4X30

6X30

M5X4

 x 1

 x 3

BS-2.5/3/4

1 x 1 2 x 1 3 x 1 4 x 1

5 x 2 6 x 1 7 x 1 8 x 4

9 x 2 10 x 1 11 x 2 12 x 2

13 x 4 14 x 1 15 x 1 16 x 2

17 x 1 18 x 4

M4X8 L&R L&R

ST4X30

6X30

 x 1 x 1  x 1

1

18

13

9

7

16

19 x 2

ST5X30

20 x 2

8X30

20

19

13



！

×8

ST4×30

×8

6X306mm

1e

1f

6mm

1g

1h

67
3-
69
3/
77
3-
79
3/
87
3-
89
3/

97
3-
99
3/
10
73
-1
09
3/
11
73
-1
19
3 773-793/873-893/973-993/

1173-1193/1373-1393

1a

1b

6mm

1c

1d A

A

B

B

14



！

5
00mm

5
00
mm

2a 2b 2c 2d

5
00
mm

5
00 mm

15



A-4
0

cut

B-40

cut

！

BA

For model LC80, the
glass holder should
be fixed on the marked
 holes of top bar.

For model LC90-LC140,
 the glass holder should
 be fixed on the  marked
 holes of top bar.

16



！

M4X83a

3b

3c

drop

3d

drop

3e

3g

3f

3h

3i

3k

3j

3l
drop

3m
drop

3n

3o

outsideinside
outside inside

17



！

4a

4c

8mm

4d

4e

4g

4f

4b

ST5X40

x 2

8X30

x 2

4h

4i

4j

4k

4n

4o BS-2.5

4p

4m

4l BS-2.5

BS-2.5

18



！

5a

5b

5c

BS-4

BS-4

BS-4

5d

BS-4

5g

5f

cut

A

B

5e

A

A

5h

50

70

19



！

6a 6b 6c

For door panel size 500mm,

 bottom seal should be cut off 100mm

CUT

100mm

8mm

8mm

20



！

A

A

7b

7c

7a

7d

7e

7f

=A

7i

7l

7j

7n 7o

BS-2.5

BS-2.5

7k

7h

7g

7m

21



！

8a 8b 8c

BS-2.5

22



！

23






